Transfers Report

This report contains the transfers results.

Contest Name	Ward 2 - Tweeddale East
Valid Votes	4,895
Positions to be Filled	3
Quota	1,224

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robert BON	Scottish Labour Party	449
Ellie CLARKE	Scottish Green Party	469
Marshall Neil DOUGLAS	Scottish National Party (SNP)	1,485
Calum MACEWAN WATT	Vanguard Party championing Tweeddale	11
Julie PIRONE	Scottish Conservative and Unionist	1,102
David PYE	Scottish Liberal Democrats	483
Robin TATLER	Independent	896
	Total	4,895

Candidate Marshall Neil DOUGLAS Elected with 1,485 votes, being in excess of the quota of 1,224

Transfers Report

This report contains the transfers results.

261.00000

Stage 2 - Surplus of Marshall Neil DOUGLAS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert BON	183	0.17575	32.16225
Transfer to Ellie CLARKE	772	0.17575	135.67900
Transfer to Julie PIRONE	27	0.17575	4.74525
Transfer to David PYE	132	0.17575	23.19900
Transfer to Robin TATLER	190	0.17575	33.39250
No further preference	176	0.17575	30.93200
Not transferred due to rounding			0.01125
	Total		261.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Calum MACEWAN WATT

Action	No. of Ballot Papers		Transfer Value	Votes Transferred
Transfer to Robert BON		1	1.00000	1.00000
Transfer to Ellie CLARKE		2	1.00000	2.00000
Transfer to Julie PIRONE		1	1.00000	1.00000
Transfer to David PYE		1	1.00000	1.00000
Transfer to Robin TATLER		4	1.00000	4.00000
Transfer to Ellie CLARKE		2	0.17575	0.35150
Transfer to Robin TATLER		1	0.17575	0.17575
No further preference		2	1.00000	2.00000
No further preference		2	0.17575	0.35150
Not transferred due to rounding				0.00000
	Total			11.87875

11.87875

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Robert BON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ellie CLARKE	97	1.00000	97.00000
Transfer to Julie PIRONE	40	1.00000	40.00000
Transfer to David PYE	135	1.00000	135.00000
Transfer to Robin TATLER	95	1.00000	95.00000
Transfer to Ellie CLARKE	81	0.17575	14.23575
Transfer to Julie PIRONE	5	0.17575	0.87875
Transfer to David PYE	39	0.17575	6.85425
Transfer to Robin TATLER	18	0.17575	3.16350
No further preference	83	1.00000	83.00000
No further preference	40	0.17575	7.03000
Not transferred due to rounding			0.00000
	Total		482.16225

482.16225

Transfers Report

This report contains the transfers results.

649.05325

Stage 5 - Exclusion of David PYE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ellie CLARKE	124	1.00000	124.00000
Transfer to Julie PIRONE	104	1.00000	104.00000
Transfer to Robin TATLER	256	1.00000	256.00000
Transfer to Ellie CLARKE	76	0.17575	13.35700
Transfer to Julie PIRONE	4	0.17575	0.70300
Transfer to Robin TATLER	34	0.17575	5.97550
No further preference	135	1.00000	135.00000
No further preference	57	0.17575	10.01775
Not transferred due to rounding			0.00000
	Total		649.05325